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AU (23] XT3 AEH FasvHR BR &t
B EHE L L L L m® kWh
E_L ﬁt H_-', {?ﬁﬁ kg-CO,/L kg-CO,/L kg-CO,/L kg-CO,/L kg-CO,/kg kg-CO,/kwh
= kg-CO, kg-CO, kg-CO, kg-CO, kg-CO, kg-CO, kg—CO,
HY> (23] XT3 AEH FasvHR BR &t
z ERE 12,946 1,706 0 0 166 413,479
= HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
= 30,060 4,468 0 0 498 229,480 264,506
- A %l KTk AEH FOsRUHR ER &&t
*E ERAE 1,615 0 880 24,000 1,946 196,430
E HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
i = 3,750 0 2,190 65,040 5,838 109,018 185,836
ié HUUY 8 4T3 AE FasLHR B5 a3t
& ERAE 3,053 6,601 26,458 0 318 197,445
% HEHRH 2.322 2,619 2.489 2.710 3.000 0.555
=5 = 7,089 17,288 65,853 0 954 109,581 200,765
e AU (23] XT38 AEH FasvHR B &t
# ERE 871 0 2,792 67,850 32 1,051,151
;L; HEHRE 2.322 2619 2.489 2.710 3.000 0.555
* L2 2,022 0 6,949 183,873 96 583,388 776,328
AU (23] XT38 AEH FasvHR B &t
3% FERE 0 0 0 0 76 7,312
E HEHRE 2.322 2619 2.489 2.710 3.000 0.555
i = 0 0 0 0 228 4,058 4,286
r AU (23] KT AEH FasvHR BR &t
T ERE 1,755 328 0 0 21 2,574,015
Zﬁf HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
= 4,075 859 0 0 63 1,428,578 1,433,575
HIIY 23t KTt AEH FasvHR BR &&t
§ ERE 1,684 0 36,764 0 28,505 1,516,084
{é HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
2 3,910 0 91,505 0 85,515 841,426 1,022,356
it AU i XT3 AEfH FasvHR BR a5t
§ ERE 132 0 0 42,000 204 464,948
E HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
B = 306 0 0 113,820 612 258,046 372,784
#t AU i XT3 AEH FasvHR BR &5t
§ ERE 1,403 0 0 0 13 1,296,993
,]."?; B RE 2.322 2619 2.489 2.710 3.000 0.555
B HHE 3,257 0 0 0 39 719,831 723,127
- AV Bl KT 36 AEh JORUHR BR &t
f; ERE 10,854 4,023 796 0 1,886 138,743
ﬁﬁ e R 2.322 2.619 2.489 2.710 3.000 0.555
: HHE 25,202 10,536 1,981 0 5,658 77,002 120,379
" AV B R AEH TasUAHR BR &5t
Igp ERE 34,313 12,658 67,690 133,850 33,167 7,856,600
E HEH R 2.322 2.619 2.489 2.710 3.000 0.555
- HHE 79,671 33,151 168,478 362,733 99,501 4,360,408 5,103,942




